

$$\textcircled{36} \int \frac{dx}{2+\sin x} \quad \left| \quad \begin{array}{l} t = \operatorname{tg} \frac{x}{2}; \quad x \in (-\pi, \pi) \leftrightarrow t \in \mathbb{R} \\ \sin x = \frac{2t}{1+t^2} \quad dx = \frac{2}{1+t^2} dt \end{array} \right.$$

$$= \int \frac{1}{2 + \frac{2t}{1+t^2}} \cdot \frac{2}{1+t^2} dt = \int \frac{dt}{t^2+t+1} = \frac{2}{\sqrt{3}} \operatorname{arctg} \left( \frac{2t+1}{\sqrt{3}} \right) \quad t \in \mathbb{R}.$$

omešane  $F_0(x) = \frac{2}{\sqrt{3}} \operatorname{arctg} \left( \frac{2 \operatorname{tg} \frac{x}{2} + 1}{\sqrt{3}} \right); \quad x$

tedy:  $\int \frac{dx}{2+\sin x} = F_0(x); \quad x \in (-\pi, \pi);$  ~~obecně~~  
~~no~~  $x \in ((2k-1)\pi, (2k+1)\pi)$   
 ~~$k \in \mathbb{Z}$~~

mezím:  $\lim_{x \rightarrow \pi^-} F_0(x) = \frac{\pi}{\sqrt{3}}; \quad \lim_{x \rightarrow -\pi^+} F_0(x) = -\frac{\pi}{\sqrt{3}}.$

tedy:  $F_1(x) = \begin{cases} F_0(x); & x \in (-\pi, \pi) \\ \frac{\pi}{\sqrt{3}}; & x = \pi \\ F_0(x) + \frac{2\pi}{\sqrt{3}}; & x \in (\pi, 3\pi). \end{cases}$

tedy  $F_1(x)$  je množina  $(-\pi, 3\pi);$

tedy  $\int \frac{dx}{2+\sin x} = F_1(x) \quad \text{v} \quad (-\pi, 3\pi).$

$$\textcircled{37} \int \frac{dx}{(2+\cos x)\sin x} = \int \frac{\sin x dx}{(2+\cos x)\sin^2 x} \quad \left| \begin{array}{l} y = \cos x \\ dy = -\sin x dx \\ \sin^2 x = 1 - \cos^2 x = 1 - y^2 \end{array} \right.$$

$$= \int \frac{dy}{(y+2)(y^2-1)} = \int \frac{\frac{1}{3}}{y+2} - \frac{\frac{1}{2}}{y+1} + \frac{\frac{1}{6}}{y-1}$$

$$= \frac{1}{3} \ln |y+2| - \frac{1}{2} \ln |y+1| + \frac{1}{6} \ln |y-1| \quad ; \quad y \in \begin{array}{l} (-\infty, -2) \\ (-2, -1) \\ (-1, 1) \\ (1, +\infty) \end{array}$$

$$= \frac{1}{3} \ln(\cos x + 2) - \frac{1}{2} \ln(\cos x + 1) + \frac{1}{6} \ln(1 - \cos x)$$

$$x \in (2\pi, (2+1)\pi).$$

"standarder" partial:  $t = \operatorname{tg} \frac{x}{2}$ ; ... vedere me  $\int \frac{t^2+1}{t(t^2+3)} dt$

$$\textcircled{38} \int \frac{\sin x \cos x}{\sin x + \cos x} dx \quad \left| \begin{array}{l} t = \operatorname{tg} \frac{x}{2}; \quad \sin x = \frac{2t}{1+t^2} \\ dx = \frac{2}{1+t^2} dt \quad \cos x = \frac{1-t^2}{1+t^2} \end{array} \right.$$

$$= \int \frac{\frac{2t}{1+t^2} \cdot \frac{1-t^2}{1+t^2}}{\frac{2t}{1+t^2} + \frac{1-t^2}{1+t^2}} \cdot \frac{2}{1+t^2} dt = \int \frac{4t(1-t^2)}{(t^2+1)^2(2t+1-t^2)} dt = \dots$$

$$\frac{4t(t^2-1)}{(t^2+1)^2(t^2-2t-1)} = \frac{A}{t-\sqrt{2}-1} + \frac{B}{t+\sqrt{2}-1} + \frac{Ct+D}{t^2+1} + \frac{Et+F}{(t^2+1)^2}$$

$$= \frac{1}{2\sqrt{2}} \left( \frac{1}{t-\sqrt{2}-1} - \frac{1}{t+\sqrt{2}-1} \right) - \frac{1}{t^2+1} + \frac{2t+2}{(t^2+1)^2}$$

$$\dots = \frac{1}{2\sqrt{2}} \ln \left| \frac{t-\sqrt{2}-1}{t+\sqrt{2}-1} \right| - \operatorname{arctg} t + \underbrace{\int \frac{2t+2}{(t^2+1)^2} dt}_I$$

38 dobrouclem:  $I = \int \frac{2t}{(t^2+1)^2} dt + 2 \int \frac{dt}{(t^2+1)^2} \doteq I_1 + 2I_2$

$$I_1 = \left. \begin{array}{l} t^2 = u \\ 2t dt = du \end{array} \right\} = \int \frac{du}{(u+1)^2} = -\frac{1}{u+1} = -\frac{1}{t^2+1};$$

$$I_2 = \left. \begin{array}{l} \text{viz indukci} \\ \text{vovec; p\u0159. 48} \end{array} \right) = \frac{t}{2(t^2+1)} + \frac{1}{2} \arcsin t.$$

celkem:  $I = \frac{-1}{t^2+1} + \frac{t}{t^2+1} + \arcsin t;$

a tedy:  $\int \frac{4t(t^2-1)}{(t^2+1)^2(t^2-2t-1)} dt = \frac{1}{2\sqrt{2}} \ln \left| \frac{t-\sqrt{2}-1}{t+\sqrt{2}-1} \right| + \frac{t-1}{t^2+1} = G(t)$

$$t \in (-\infty, 1-\sqrt{2}), (1-\sqrt{2}, 1+\sqrt{2}), (1+\sqrt{2}, +\infty).$$

$F(x) = G(\arcsin \frac{x}{2})$  je z.f. z  $\frac{\sin x \cdot \cos x}{\sin x + \cos x}$  kde?

uplatit:  $\sin x = -\cos x \Leftrightarrow \arcsin \frac{x}{2} = 1 \pm \sqrt{2}$

$$x = -\frac{\pi}{4} + 2\pi;$$

ty:  $\int \frac{\sin x \cos x}{\sin x + \cos x} dx = F(x) \quad \text{v} \quad \left(-\pi, -\frac{\pi}{4}\right)$   
 $\left(-\frac{\pi}{4}, \frac{3\pi}{4}\right)$   
 $\left(\frac{3\pi}{4}, \pi\right).$

prok\u00e1z\u00e9  $\lim_{x \rightarrow \pi^-} F(x) = 0$ ; kde  $F(x)$  definujeme zde 0  
 m\u00f3\u017ee a m\u00ed\u0159 z.f. me

interval:  $\left(-\frac{\pi}{4} + 2\pi, \frac{3\pi}{4} + 2\pi\right); z \in \mathbb{Z}.$

$$(39) \int \frac{\cos x \, dx}{2 \sin x - 3 \cos x + 6} \quad \left| \begin{array}{l} t = \operatorname{tg} \frac{x}{2} \\ dx = \frac{2 \, dt}{1+t^2} \end{array} \right. \quad \begin{array}{l} \sin x = \frac{2t}{1+t^2} \\ \cos x = \frac{1-t^2}{1+t^2} \end{array}$$

$$= \int \frac{\frac{1-t^2}{1+t^2}}{\frac{4t}{1+t^2} - \frac{3(1-t^2)}{1+t^2} + 6} \cdot \frac{2 \, dt}{1+t^2} = \int \frac{2(1-t^2) \, dt}{(t^2+1)(9t^2+4t+3)}$$

$$= \frac{1}{13} \int \frac{36t+44}{9t^2+4t+3} \, dt - \frac{1}{13} \int \frac{4t+6}{t^2+1} \, dt = \frac{1}{13} (I_1 - I_2)$$

$$I_2 = 2 \ln(t^2+1) + 6 \operatorname{arctg} t, \quad t \in (-\infty, +\infty)$$

$$I_1 = 2 \int \frac{18t+4}{9t^2+4t+3} \, dt + 36 \int \frac{dt}{9t^2+4t+3}$$

$\underbrace{\hspace{10em}}_{\ln(9t^2+4t+3)} \qquad \underbrace{\hspace{10em}}_{I_3}$

$$\text{al } I_3: \quad 9t^2+4t+3 = \left(3t + \frac{2}{3}\right)^2 + \frac{23}{9} = \frac{23}{9} \left[ \left(\frac{9t+2}{\sqrt{23}}\right)^2 + 1 \right]$$

$$I_3 = \frac{9}{23} \int \frac{dt}{\left(\frac{9t+2}{\sqrt{23}}\right)^2 + 1} = \frac{9}{23} \cdot \frac{\sqrt{23}}{9} \operatorname{arctg} \left(\frac{9t+2}{\sqrt{23}}\right)$$

$\underbrace{\hspace{10em}}_{\frac{1}{\sqrt{23}}}$

$$\text{allgemein:} \quad = \frac{1}{13} \left\{ 2 \ln \frac{9t^2+4t+3}{t^2+1} + \frac{1}{\sqrt{23}} \operatorname{arctg} \left(\frac{9t+2}{\sqrt{23}}\right) \right.$$

$$\left. - 6 \operatorname{arctg} t \right\} \quad \begin{array}{l} \text{m. x.} \\ t \in \mathbb{R} \end{array}$$

$$\rightarrow \text{dann ist } t = \operatorname{tg} \frac{x}{2} \rightarrow F(x); \quad x \in (-\pi, \pi)$$

$$\lim_{x \rightarrow \pi^-} F(x) = \frac{1}{13} \left\{ 2 \ln 9 + \frac{\pi}{2} \left(\frac{1}{\sqrt{23}} - 6\right) \right\}$$

$(-\pi+)$

bei negativ!!

$$\textcircled{40} \int \frac{dx}{\sin x} ; \left. \begin{array}{l} t = \operatorname{tg} \frac{x}{2} \\ \dots \end{array} \right\} = \int \frac{1}{\frac{2t}{1+t^2}} \cdot \frac{2}{1+t^2} dt$$

$$= \int \frac{dt}{t} = \ln|t| = \ln \left| \operatorname{tg} \frac{x}{2} \right| ; \quad t \in (-\infty, 0), (0, +\infty)$$

$$\dots x \in (2\pi, (2+1)\pi).$$

$$\textcircled{41} \int \frac{\sin^2 x}{1+\sin^2 x} dx \quad \left. \begin{array}{l} t = \operatorname{tg} x \\ dx = \frac{dt}{1+t^2} \end{array} \right\} ; \quad \sin x = \frac{t}{\sqrt{1+t^2}}$$

$$\cos x = \frac{1}{\sqrt{1+t^2}}$$

$$= \int \frac{\frac{t^2}{1+t^2}}{1 + \frac{t^2}{1+t^2}} \cdot \frac{dt}{1+t^2} = \int \frac{t^2 dt}{(2t^2+1)(t^2+1)} \quad \text{m.x.}$$

$$= \int \frac{1}{t^2+1} - \frac{1}{2t^2+1} dt = \operatorname{arctg} t - \frac{1}{\sqrt{2}} \operatorname{arctg}(\sqrt{2}t) ;$$

$$t \in (-\infty, \infty) \dots x \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right).$$

monoton:  $F_0(t) := \operatorname{arctg} \left(\operatorname{tg} \frac{x}{2}\right) - \frac{1}{\sqrt{2}} \operatorname{arctg} \left(\sqrt{2} \operatorname{tg} \frac{x}{2}\right) ;$

$$f(t) = \frac{\sin^2 x}{1+\sin^2 x} ; \quad \text{zloží: } F_0'(t) = f(t) ; \quad x \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right)$$

definiční:  $F_1(x) := \begin{cases} F_0(x) ; & x \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right) \\ \frac{\pi}{2} \left(1 - \frac{1}{\sqrt{2}}\right) ; & x = \frac{\pi}{2} \\ F_0(x) + \pi \left(1 - \frac{1}{\sqrt{2}}\right) ; & x \in \left(\frac{\pi}{2}, \frac{3\pi}{2}\right) \end{cases}$

$$\Rightarrow F_1'(x) = f(x) ; \quad x \in \left(-\frac{\pi}{2}, \frac{3\pi}{2}\right).$$

POZOR:  $\operatorname{arctg} \left(\operatorname{tg} \frac{x}{2}\right) \neq x$  mimo  $\left(-\frac{\pi}{2}, \frac{\pi}{2}\right)$ .

$$(42) \int \frac{1}{\cos^5 x} dx \left| \begin{array}{l} t = \sin x \\ dx = \frac{dt}{1+t^2} \end{array} \right. = \int \frac{t^5}{1+t^2} dt \quad \sin^2 x + \cos^2 x = 1$$

$$= \int t^3 - t + \frac{t}{t^2+1} dt = \frac{t^4}{4} - \frac{t^2}{2} + \ln \sqrt{t^2+1} ; \quad \frac{1}{\cos^2 x} + 1 = \frac{1}{\cos^2 x}$$

$$= \frac{1}{4} \sin^4 x - \frac{1}{2} \sin^2 x - \ln |\cos x| \quad \text{m.x.} \quad \cos x \neq 0.$$

$$; \quad x \in \left( \left(2k - \frac{1}{2}\right)\pi, \left(2k + \frac{1}{2}\right)\pi \right)$$

$$(43) \int \frac{1 - \sin x}{1 + \sin x} dx = \left| \begin{array}{l} t = \sin x \\ dx = \frac{dt}{1+t^2} \end{array} \right. = \int \frac{1-t}{(1+t)(1+t^2)} dt$$

$$= \int \frac{1}{t+1} - \frac{t}{t^2+1} dt = \ln \left| \frac{t+1}{\sqrt{t^2+1}} \right| ; \quad t \in (-\infty, -1) \cup (1, +\infty).$$

$$f(t) = \frac{1 - \sin x}{1 + \sin x} ; \quad F_0(t) = \ln \left| \frac{\sin x + 1}{\sqrt{\sin^2 x + 1}} \right| = \ln |\cos x \cdot (\sin x + 1)|$$

$$x \neq -\frac{\pi}{4} \quad (\sin x \neq -1). \quad = \ln |\cos x + \sin x| ;$$

$$F_0'(t) = f(t) ; \quad \text{null value zero } x = \pm \frac{\pi}{2}.$$

partial fraction decomposition:

$$f(t) = \frac{\cos x - \sin x}{\cos x + \sin x}$$

$$(44) \int \frac{1 + \sin^2 x}{2 + \sin x} dx = \left| \begin{array}{l} t = \sin x \\ dx = \frac{dt}{1+t^2} \end{array} \right. = \int \frac{1+t^2}{2+t} \cdot \frac{dt}{1+t^2} = \int \frac{dt}{t+2}$$

$$= \ln |t+2| = \ln |\sin x + 2| ; \quad x \in \left( -\frac{\pi}{2}, -\arcsin 2 \right) \cup \left( -\arcsin 2, \frac{\pi}{2} \right)$$

a delo  $\pi$ -periodičny.